Hl £ 0l & AL H Al M
024 A3% =8 3 2| LEeH sS4l
FA BP0
33 Yoete d33
el Y=ot B3 X (SH9 H2)
A - B - SA(SA) - N - BES Ofl &F2H I8N Hwusz
For 40 14,455,786 14,629,101 A173,315
= 793,002 781,002 12,000
[as 450,000 450,000 0
Jl 1,307,393 1,299,640 7,753
< 1,270,000 1,571,562 A301,562
i 10,635,391 10,526,897 108,494
Y=ot S8 6,326,705 6,283,486 43,219
Jl 698,634 672,867 25,767
< 414,580 401,080 13,500
i 5,213,491 5,209,539 3,952
et S5 A3 5,877,9% 5,834,776 43,219
2l 698,634 672,867 25,767
5 414,580 401,080 13,500
e 4,764,781 4,760,829 3,952
FAOL A ALK 10,000 10,900 £900
301 L2z 0 900 A900
11 HAFHIXIRS 0 900 2900
O®= =40l SH0tS3l M &R 2
82 0 900 A900
Bt =T 014 X3A 38,480 46,250 NT,770
402 212HXH=01H 38,480 46,250 AT,770
01 QIZHNHE2 AL 2 (RERITH ) 38,480 46,250 NT,770
OF=gte =32 014 XA
370, 0002 2085 +50% 38,480 46,250 NT,770
gt BEHESTX XS AL 11,130 12,880 A1,750
402 QI2EXH2 01 M 11,130 12,880 A1,750
01 QIZEXZ AL 2= (RHHITH ) 11,130 12,880 21,750
Ote 2HESHA KA
70, 0002 *318Z550% 11,130 12,880 21,750
SN steelS XA 125,930 150,860 A\24,930
201 Ler2 3| 6,650 9,000 A2,350
01 Al2tefsl 6,650 9,000 2,350
OF YN et20s L MH
95,0002 +707H A 6,650 9,000 A2,350
301 LetEA=Z 119,280 141,860 A22,580
BOEEd= 119,280 141,860 A22,580
OFdH et2os ISk
704,000 %7004 2 49,280 71,860 A22,580
AANzYMAE BHFY X (ZHIFIHR) 142,040 134,233 7,802
307 2IZtol& 142,040 134,233 7,802
02 QZHEMAIHE X 142,040 134,238 7,802
OZAE SA7Y X2 (XHA) 142,040 134,238 7,802
ANZHEAE JIHEHIFY X (EAZ SSH X 300,000 240,000 60,000
2AA)
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A A4
3 Y=gt B35
el st B33 A (SH9 H2)
SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
pJ 75,000 60,000 15,000
< 67,500 54,000 13,500
o 157,500 126,000 31,500
402 RIZHAHZ01H 300,000 240,000 60,000
) 75,000 60,000 15,000
< 67,500 54,000 13,500
= 157,500 126,000 31,500
02 RIENZASE X (01 THR) 300,000 240,000 60,000
O2AtZz EH | XA
150,000, 0002 *52=*40f% 300,000 240,000 60,000
) 75,000 60,000 15,000
< 67,500 54,000 13,500
= 157,500 126,000 31,500
FTA HISH2 A ALY HEH 6,430 0 6,430
) 6,430 0 6,430
201 Ler23| 4,630 0 4,630
2l 4,630 0 4,630
01 At22t2l] 4,630 0 4,630
HAIRIRE 2HHFZLEH GIAMALE
seb> 2,840 0 2,840
pJ 2,840 0 2,840
O8 = M S S2HFZ LS MlAtAL
g s> 1,790 0 1,790
pJ 1,790 0 1,790
202 04l 1,800 0 1,800
) 1,800 0 1,800
01 =LHoiL 1,800 0 1,800
OB AIZAL O dEE HlatAIE 501> 1,800 0 1,800
Jl 1,800 0 1,800
EIAZE D202 A|HAI(F4H) 4,337 0 4,337
) 4,337 0 4,337
301 LEIEE S 4,337 0 4,337
2l 4,337 0 4,337
14 JIE2 43 4,337 0 4,337
OEASE T2 AIHA(F4) 4,337 0 4,337
) 4,337 0 4,337
S Y= Hat 7,133,063 7,479,258 A346,195
= 662,052 650,052 12,000
= 450,000 450,000 0
2l 608,759 626,773 A18,014
< 781,938 1,097,000 A315,062
= 4,630,314 4,655,433 n25,119
SI=AIRIEE &4 635,460 665,483 30,023
) 18,000 36,014 A18,014
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SA: Shtdnt
g R4 ZHE A5
ol RQEIIEAMSIIR M EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
< 160,268 163,270 3,002
= 457,192 466,199 9,007
StueFaa AAAL 116,060 146,083 130,023
2l 18,000 36,014 A18,014
< 28,818 31,820 23,002
[ 69,242 78,249 29,007
301 LetE2NS 115,500 145,523 30,023
) 18,000 36,014 A18,014
< 28,650 31,652 A3,002
= 68,850 77,857 9,007
01 ARRI2HHSHS(SDEXRTHE) 30,000 60,023 A30,023
ORFH2HA ABAL (FI2AAS) 30,000 60,023 130,023
2l 18,000 36,014 A 18,014
< 3,000 6,002 A3,002
= 9,000 18,007 9,007
2SN | 240,960 243,960 3,000
2l 1,230 1,230 0
& 23,769 23,769 0
z 215,961 218,961 3,000
MEEE 2 ASEES 2Y 22,000 25,000 3,000
201 Let=Ehl 22,000 25,000 3,000
03 SAr2 I 22,000 25,000 23,000
Ottg=2s & & g2 29
22,000,000 %14 22,000 25,000 3,000
FoE MelXg 2,280,580 2,290,592 A10,012
= 2 ®Mel XNEOIEHE) 169,988 180,000 A10,012
402 RIR”FXH=201 A 169,988 180,000 A10,012
01 QIZEXH2 AL 2 (R TH ) 169,988 180,000 210,012
OJt=EgLdel =2=&HM X (OIEDHE)
45,0002 +7,555M x50k 169,988 180,000 ~10,012
=4 2,288,209 2,275,409 12,800
= 652,587 640,587 12,000
) 190,425 190,425 0
< 382,374 380,874 1,500
= 1,062,823 1,083,523 AT00
=2 ASSIt HSYM &%) A& 300 2,500 A2,200
402 2I2EXHE01H 300 2,500 A2,200
01 QI X2 AL E R (KEHITH) 300 2,500 A2,200
OZE MESIt i SYH 42| X2
600,000 *1CH*50% 300 2,500 A2,200
aX2EY= 115,000 100,000 15,000
= 92,000 80,000 12,000
< 11,500 10,000 1,500
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S2A: S
HM: =a WA 23
chel:r JiEgd EER=E)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
= 11,500 10,000 1,500
301 L2 115,000 100,000 15,000
= 92,000 80,000 12,000
[ 11,500 10,000 1,500
2 11,500 10,000 1,500
14 JIEtE A2 115,000 100,000 15,000
AR ELAS 5,000,000 %235 115,000 100,000 15,000
= 9,000 80,000 12,000
(= 11,500 10,000 1,500
2 11,500 10,000 1,500
T4 UMAIYAE A= 869,062 871,462 2,400
7l 354,747 354,747 0
(= 153,480 153,480 0
2 360,835 363,235 A2,400
SHZORHIE (XHA) 5,280 7,680 N2,400
307 QI2+0| & 5,280 7,680 2,400
02 QIHHAMAIH B X 5,280 7,680 A2,400
OSOME (XHEEXI)
320, 0002 %55 *30% 5,280 7,680 A2,400
S22 606,175 919,735 313,560
= 9,465 9,465 0
= 450,000 450,000 0
(= 14,035 327,5% 313,560
= 132,675 132,675 0
RJNsE8 25 =X 93,925 97,285 13,360
301 LetEX3 4,140 7,500 13,360
14 B2 &S 4,140 7,500 13,360
Oogadl XA 4,140,000& 4,140 7,500 A3,360
I8 25 N 16,000 11,200 4,800
[ 4,800 3,360 1,440
= 11,200 7,840 3,360
206 24| 16,000 11,200 4,800
(= 4,800 3,360 1,440
= 11,200 7,840 3,360
01 =24l 16,000 11,200 4,800
ORIISSESESE 2 A2 24| 16,000 11,200 4,800
(= 4,800 3,360 1,440
= 11,200 7,840 3,360
HIASE 0Tt REAIY 450,000 765,000 315,000
= 450,000 450,000 0
(= 0 315,000 315,000
401 AlEHI L 2] 450,000 765,000 315,000
= 450,000 450,000 0
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S BT
HE: B0 FWY 25
gl SEES EERE)
SA - B SA(3) - MRAY - BES 0l Ary p/IE- - HimE=ET
< 0 315,000 315,000
01 Al 450,000 765,000 315,000
SSYSHE MR A 450,000 765,000 ~315,000
= 450,000 450,000 0
= 0 315,000 ~315,000
N 185, 164 167,664 ~2,500
= 67,726 67,726 0
= 42,837 42,837 0
= 74,601 77,101 ~2,500
TR 185, 164 167,664 ~2,500
= 67,726 67,726 0
= 42,837 42,837 0
z 74,601 77,101 ~2,500
UALNE THOHRE 2,000 4,500 ~2,500
= 1,350 1,350 0
= 650 3,150 ~2,500
307 QI2H0IH 2,000 4,500 ~2,500
= 1,350 1,350 0
z 650 3,150 A2,500
EEE 2,000 4,500 £2,500
OYLAILAE THoH2E
3,332, 00021 %12 %60% 2,000 4,500 ~2,500
= 1,350 1,350 0
= 650 3,150 ~2,500
NEETIE NP 527,509 39,348 132, 161
SIS 527,509 395,348 132, 161
SHNE 527,509 395,348 132, 161
802 BHEH2|El 527,509 395,348 132, 161
NENEES=TE= 364,123 249,048 115,075
020233 LHEIXIRH| XA (FTAIID) e
T4 BH(D12) 240 0 240
02023 LHE[XIZH| XIR A (FTAIIZ) 01X
SOl Bt (D] 2 0 2
020224 LHEIXIZH| XIZA (FTADID) & e
Tro4 BHt(D13) 4,350 0 4,350
0202218 LHEIXIRH| XA (FTADIR) OIXt
SOl BHEH(D|2) 51 0 51
O3 LAASTRSAL TSR QU 0
Xt 4,123 0 4,123
020233 AIZOHE 2N L OIS 2DRES
Y 9 O|X Bt 332 0 332
020233 SOMAIA M X2 ZaF4 2 0l
Xt 2,805 0 2,805
O3 F2QI2] YaI|2 XS (Ba) N
Zro 9l 0|} 230 0 230
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SA: Z4RMD
¥ HPS(Fh2(4l)
&el: 28XE EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Husz
020224 ZAtg IISFSAIE KEAIE =8|
Zazi(olg) 70,681 0 70,681
020228 ZAZE IISKSAIE XZAIY =H]
OIxH(0I=) 3,615 0 3,615
Q20228 =4HZ0F ICT S8 SAAIY ZES
o 2,000 0 2,000
020234 stieRsA XA =0 R
oH 2l Q| Xttt 26,646 0 26,646
02 Al - EHIEXSEtet= 163,386 146,300 17,086
020238 RE2E MSE XZAIY TN ot
E=3(<Hl) 901 0 901
020238 LMASTRIYAIY et &t 1,174 0 1,174
020238 LMASARIZAIY HHEH Ok} 64 0 64
0202348 S0HAIE &1 X BTy 679 0 679
020232 sOAIE ZXI X D& Ok 231 0 231
O20238 M2l 24D XJA(FY) T3
&hoH 69 0 69
O2023 M2els 2a)|2 X (Zd) I
ot O Kt 1 0 1
020228 ZAE IISKSAE XZAIY THI
Zex(01d) 10,753 0 10,753
020228 ZAZE IIEFSAIE XNEAE Thi
OIXH(0I&) 544 0 544
0202348 AES AHEIE MEFAIY OIRHEHE 1 1
020238 AIZOHEALD G RIRAY EEHE
o gl oIt Bt 9 9
02023 SAE ANENEXIAA Ol KBH 20 20
020239 AHIKAISAMZAIY 234 ™
ZhoH ol O RpBHe 1,378 0 1,378
O20238 S48 AdS2E S OIA
HELF 2 0 2
Q20238 =4F B3| FOF NZAIY Z TN
B (=HI) 720 0 720
020238 =4t 13| FHOF XIZ ALY OIXiete
(&HI) 4 4
02023 s0tHal 243t X2 ol Mt &tk 498 0 498
020234 =0tHE 243 & THl Ty
(OIZH) 32 0 32
020234 &t 2RS4 XFAIY TH| Jd
N g 0|} BrEra 6 0 6
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